EX treise L

Clim:  0(42)\ §01

————

= 7 (BA)\Se}

(4) _;é_ow_ T_" AB c.a..ku...,/y c’u-v'wk“t.

(._—'9 T- RA Cd'\m'}ihuvu.rlr t'v.M.‘LQ

' (I-AB)4 - S’(AB)K ':/ Fu‘:ﬁuc.,

. -1
=T+A(T-34) 8

Jo oA Z:= T+A(T-84)"B

~ 2x;sts ‘y «srmv;}'-;mf

anmd CJ{-JN‘(:

2(T-48) = (T-AB) + A(T-84)3 (T-48)

= (T-47) « LT-1 " -..
(T-43) A[(M)ﬂ

L

—

= L v/

(T-4B)% = (T-#8) « (2- 40)A (2-547"3
= T V



CThicfoe T- A3 ok kil b dyepe 2

(B) Vit ) e ahidh g 240
f6-2 = -2 (T- 4 4g) .
A
ot vt &> (T- £8A) b tamibte

% AB-A  wd. bl &> BA-A oud. invtible

Tk wioms:  C(A8) 1o} = 7 (04)\[o . R

E&:&"& ;” ﬂ'-"o‘

A" x“fx\.,..-) ‘f—? (x'u '3 e '
( X5, ) o (18 1)

B: (ur ) = (@xax, .. )

Tme  AB =T = 0¢c(#8)

39—
3/43“,. =0 = (€ r(3A)

(A,0,..)





